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Questions

(@)1=

Question Image

Question Image

f4>bora<bthana=bisa

Question Image

Question Image

Question Image

aal=ala=1isa

Associative law of multiplication

Question Image

Question Image

Question Image

1/3 is a decimal

202.04 is an example of

Answers Choice

. a<sup>-1</sup>
a

-a

None of above

. Trichotomy property

. Additive property of inequality
. Transitive property

. Multiplicative property

. Multiplication property

Additive property

. Trichotomy property

. Transitive property of inequality

. Additive property

. Transitive property

. Trichotomy property of inequality
. None of above

oOwW» UQWP UOwWP UOowP

A. Symmetric property

B. Cancellation property w.r.t.
multiplication

C. Reflexive property

D. Transitive property

A. Reflexive property

B. Symmetric property

C. Cancellations property w.r.t.
addition

D. Transitive property

. Commutative law of multiplication
. Closure law of multiplication

. Associative law of multiplication

. Multiplication identity

Commutative law of multiplication
. Multiplication identity

. Associative law of multiplication

. Multiplication inverse

ab =ba

.a(bc) = (ab) ¢
a(b+c)=ab + ac
(a+b)c=ac+bc

Commutative law of addition
Associative law of addition

. Additive identity

Additive inverse

. Closure law of addition

. Associative law of addition
Additive inverse

. Additive identity
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34); font-family: &quot;Times New
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UOWP» UOWr DOWP U0OWP U0WP U0wW>

A. Recurring

B. Terminating

C. Non-terminating
D. None of the above

A. Recurring decimals
B. Non-recurring decimals
C. Terminating decimals
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Question Image

Question Image

The symbol of irrational is

QuQ'
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Cw>» DO

None of above
Rational

Even
Odd

Irrational
Natural
Odd

w
N
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A. Set of whole number

Question Image
9 Complex numbers

Whole numbers

oo

Set of whole numbers
Set of rational number
Set of irrational numbers

Theset {1, 2, 3, 4, ...} is called
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Geometrically, the modulus of a complex number represents its distance from the

Question Image

The multiplicative inverse of 1 - 2i is

The square root of 2i - 20i is

The value of x, and y, when (x + iy)2= 5 + 4i

Question Image

What is the conjugate of -7 -2i?

Question Image

The equation [x + 4| = x has solution

The solution set of the equation [3x+ 2| =5 is
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OCw» DO

ocow
> X X

oow
x X X

Point (1, 0)
Point (0, 1)
Point (1, 1)

+(5 - 2i)
+-(5 + 2i)
(5 - 2i)

_2’ y
2,y
2,y

N

3 +2i
1+2i
1-2i

7 +2i
7 -2i
None of these
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